	(Adopti thr	SOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL ing a budget of \$2.927 million for Intergovernmental and Public Relations, ough an appropriation of \$2.6 million from investments set aside from ning revenues, and a re-authorization of \$327,000 of unspent funds set aside under Resolution No. 98-290)
		RESOLUTION NO. <u>99-585</u>
1	WHEREAS,	it is in the best interest of the Nation to put in place and fund a comprehensive
2		plan for intergovernmental and public relations to garner political support on
3		issues of concern to the Nation; and
4	WHEREAS,	the Chairman of the Nation has estimated that such a plan shall cost \$2,927,000
5		for Fiscal Year 2000; and
6	WHEREAS,	the Chairman of the Nation has submitted such a plan to the District Councils
7		for consideration wherein funding be appropriated from savings set aside from
8		gaming revenues; and
9	WHEREAS,	the plan was reviewed by the Commerce Committee, and the Budget and
10		Finance and Investment Committee of the Tohono O'odham Legislative Council;
11		and
12	WHEREAS,	approximately \$327,000 funding remains available in unspent monies set aside
13		under Resolution No. 98-290.
14	NOW, THE	REFORE, BE IT RESOLVED THAT:
15		1. The Tohono O odham Legislative Council hereby supports and adopts the
16		comprehensive plan for intergovernmental and public relations for fiscal
17		year 2000 submitted by the Chairman of the Nation as attached and
18		incorporated by this reference.
19		2. The estimated cost for the plan of \$2,927,000 shall be funded through an
20		appropriation of \$2.6 million from investments set aside from gaming
21		revenues and through a re-authorization of approximately \$327,000 in
22		unspent monies set aside under Resolution No. 98-290.
23		3. The Chairman of the Nation shall issue a report to the Council and the
24		Districts on activities funded under Resolution No. 98-290 within 30 days of
25		the close of fiscal year 1999, and on all activities funded hereunder within 30
26		days from the close of fiscal year 2000.

RESOLU	TION NO	D. <u>99-585</u>
---------------	---------	------------------

(Adopting a budget of \$2.927 million for Intergovernmental and Public Relations, through an appropriation of \$2.6 million from investments set aside from gaming revenues, and a reauthorization of \$327,000 of unspent funds set aside under Resolution No. 98-290) Page 2 of 3

1	4. Of the amount so appropriated and in accordance with the attached budget,
2	\$475,000 are directed to the operating account of the Attorney General and
3	\$2,452,000 are directed to the operating account of the Executive Office.
4 5	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 14^{TH}
6	of <u>OCTOBER 1999</u> at a meeting at which a quorum was present with a vote of <u>1.388.1</u> FOR;
7	372.7 AGAINST; 104.8 NOT VOTING; and 299.9 [08] ABSENT, pursuant to the powers vested in
8	the Council by Section <u>1 (d)(2) & (3)</u> of Article VI of the Constitution of the Tohono O'Odham
9	Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the
10	Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant
11 12	to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
13	TOHONO O'ODHAM LEGISLATIVE COUNCIL
14	
15	Q_{-}
16	Dung Kan
17	Dennis Ramon, Legislative Chairman
18	аланан алан алан алан алан алан алан ал
19	15th day of October , 19 99
20	
21	ATTEST:
22	
23	
24	Xul auf
25	Julianna Saraficio, Acting Legislative Secretary
26	
27	14 day of Colory, 19 99.
28	
	Said Resolution was submitted for approval to the office of the Chairman of the Tohono
29	Said Resolution was submitted for approval to the office of the Chairman of the follow
30	O'Odham Nation on the 15th day of Actahn , 19 29 at 4.51 o'clock,
31	M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will
32	become effective upon his approval or upon his failure to either approve or disapprove it
33	within 48 hours of submittal.
34	
35	TOHONO O'ODHAM LEGISLATIVE COUNCIL
36	
37	$(X)_{-}$
38	At man 1 have
39	Dennis Ramon, Legislative Chairman

RESOLUTION NO. <u>99-585</u>

(Adopting a budget of \$2.927 million for Intergovernmental and Public Relations, through an appropriation of \$2.6 million from investments set aside from gaming revenues, and a reauthorization of \$327,000 of unspent funds set aside under Resolution No. 98-290) Page 3 of 3

		with At a
1	APPROVED ON	the 16 day of October, 19 19
2		
3	[] DISAPPROVED at	<u>5://</u> 70'clock, <u>/</u> .M.
4		
5		A. K.S. I
6	t t	Klim Klillef
7		WARD D. MANUEL, Chairman
8 9	TU	HONO O'ODHAM NATION
9 10		
11		
12		
13	Returned to the Legislative Secretary	on the 19 day of
14		
15	October , 19 99 , at	<u>9.06</u> o'clock, <u>4</u> .M.
16		
17		
18	Julianna Saraficio, Acting Legislative	
19 20	Julianna Saráficio, Acting Legislative	secretary
20 21	_	
22		
23		
24		
25		
26		
27		
28		
29		
30		
31		
32		
33		
34		
35		
36 37		
37 38		
39		
40		
41		
	н	

ACTION: ADOPTING A BUDGET OF \$2.927 MILLION FOR INTERGOVERNMENTAL AND PUBLIC RELATIONS, THROUGH AN APPROPRIATION OF \$2.6 MILLION FROM INVESTMENTS SET ASIDE FROM GAMING REVENUES, AND A RE-AUTHORIZATION OF \$327,000 OF UNSPENT FUNDS SET ASIDE UNDER RESOLUTION NO. 98-290

E: OCTOBER 14 DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	1. MARY ANN ANTONE	85.9			TOTING	X
171.8	(Darlene Andrew) 2. RITA MARTINEZ (Nicholas Jose)	85.9				x
SELLS	1. DENNIS E. JOSE	186.35		x		
372.7	2. EVELYN JUAN	186.35		x		
SCHUK TOAK	1. MARY FLORES	66.7	x			
133.4	2. AMBROSE ENCINAS	66.7	x			x
SAN XAVIER	1. TONY BURRELL	82.95	х			
165.9	2. DENNIS RAMON	82.95	x			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	x			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	x			x
GU ACHI	1. CAMILLUS LOPEZ (Louis Johnson)	104.8	x			
209.6	2. ALEX J. RAMON	104.8		·	x	
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	78.4	x			
156.8	2. JOHNSON JOSE	78.4	x			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05				x
128.1	2. GLORIA RAMIREZ	64.05				x
GU VO	1. FERN SALCIDO	80.0	x			
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0	x			
HICKIWAN	1. ALEX JOSE	79.05	x			
158.1	(Shirley Santos) 2. LLOYD FRANCISCO (Susan Sam)	79.05	x			х
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	x			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	x			x
Т	OTAL	2,165.5	1,388.1	372.7	104.8	299.9 [08]